- The answers to the lectures of WEEK 4 should be handed to me in the next Monday’s lecture (March 14).
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 4 in bold at the beginning of your answers.

YOU SHOULD HAND THE ANSWERS TO THE TWO LECTURES OF WEEK 4 TOGETHER.

L7: Continuation of chapter 2

1. Consider a country with full-employment and CB interest rates at zero, an interest rate on 10-year treasury bonds equal to 0.5% and a debt-to-GDP ratio equal to 100%. Assume that 10% of those bonds will reach maturity in each of the following 10 years.

a) What is the burden imposed by the debt-to-GDP ratio? Explain.

b) Consider now that there is a strong increase in private demand.

i) If the CB responds to this by raising interest rates, what is likely to happen to the interest on public debt? Explain.

ii) Suppose that the interest rate on public debt rises to 6% and remains at that level over the next ten years. Assuming no GDP growth and balanced budgets over the next ten years, what will be the value of interest payments on public in each of those years? Explain.

iii) What are the three possible consequences of that fact? Explain.

2. Consider a country with full-employment and CB interest rates at zero, an interest rate on 10-year treasury bonds equal to 0.5% and a debt-to-GDP ratio equal to 500%. If there is a strong increase in private demand, what should be the appropriate response of macroeconomic policy? Explain.

3. “In certain periods, the purpose of higher taxes is not to raise revenue for the government but to withdraw purchasing power from the economy.” Do you agree? Explain.

4.What determines the growth of public debt? Illustrate with a numerical example.

5. Under which condition does the debt-to-GDP ratio rise from one year to the next? Illustrate with a numerical example.

6. What is the primary deficit?

7. Suppose the deficit needed to maintain AD at FE is always equal to 10% of FE GDP. Inflation is 2% and real FE GDP is equal to 3%.


a) What happens to debt growth when the debt-to-GDP ratio rises from 100to 200 percent?


b) At which level will the debt-to-GDP ratio cease to grow?
L8: Continuation of chapter 2
One question still about L7:

1.When an economy stays above full-employment year after year, the result is rising inflation. Why? 

1st part

2.“Japanese private investment fell below full-employment private saving in the mid-1990s because entrepreneurs became afraid there wouldn´t be demand for the goods produced by new investment projects”. Do you agree? Explain.

3. “A halt in population growth of a country may lead to problems – unless people start to save less”. Do you agree? Explain.
4. “Ceteris paribus, a reduction in the working-age population of a country lead to a decline in business investment.” Do you agree? Explain.

5. As a result of the Japanese government’s full-employment policy, private saving had two destinies.

a) Which ones?

b) Indicate the two forms in which private saving was applied.
6. What would have happened to the levels of output and saving had it not been for the Japanese government’s full-employment policy? Answer based on the numerical example of the lecture, but considering a decline in investment from $25 to $20 and a saving rate of  0.25.

2nd part: How budget deficits are actually financed in practice in countries with their own Central Bank
7. Keep on bearing in mind the previous setting.

 a) How is a budget deficit of $5 financed in a first stage?

b) Write the implications of such financing on the balance sheets of the private sector, of banks and of the consolidated government (CB + gov).

c) Indicate the consequences of the deficit’s financing on banks’ reserves.

d) Indicate the consequences of the deficit and of the way it has been financed on the value of saving and in the form of saving.

8. Suppose there’s no fear of default.

a) What will the private sector do with the newly acquired deposits?

b) Explain the effects of that action on the balance sheets of the private sector, of banks and of the consolidated government (CB + gov).

c) What will be the effect of the deficit on the monetary base and on the quantity of money? Explain.

